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ACCOUNTING EQUATION
LECTURE - 2




Accounting Equationis a
' mathematical expression

based on Dual Aspects Concept
of Accounting.
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We can express i ically as follows:

Assets = Liabilities + Capital
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Effect of Transactions on Accounting Equation

Transaction Affecting
Two Items.

o= O:

As

Transaction Affecting
More Than Two Items
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TE. TopSEts 3
FORMAT
ASSETS = LIABILITY + CAPITAL

S. NO.

TRANSACTION
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S{N%H — — 00
o~ 192200 + booo - [p000 = %6000 + 075 RSNy
2 1l %3 o }lﬁ%@
Questions Prepare Accounting Equation form.'f‘r\mf ollowing=
1. Sandeef st;:e busineswith Cash ¥1,00,000 4, Purchased goods on credit 336,000
2. |Purchased T - h 35,000 5. | Pdid for rent )—=Rewh~ 2700
urchase | urn or cas ot 4
3 Purchased goods for cash 320,000 6. Goods costing F40,000 sold at a XQ’
profit of 20% for cash 400W 3L
Sol. ok sk 40000 > Ugooo 4 qooY
__“
ASSETS = LIABILITY + CAPITAL
S. NO. TRANSACTION - -
Cash  + Furrihre + Stock Cedidoy
- [Bustnens Stexkd with GeW | ) 50000 +— + 100000
| Porchowed Foxmbuve | — Sooo 1 5000
ToTAL 4Svob 4+ Sooo + looooo
2| Puvchand Govdyy —20000 + 20000
Totuh 75000 + S0op 1+ 200066 + 1000006
4 | Pvchased Qo on cved k- + 36000 +3 6600
Total 715000 + S0004 5 (poo Y+ 4 voo + looooo
5 Renk Yaxo\ — 700 — 700
Tod 14300 + So26 + Shona + 3 fovo +— Q9300
- __;{:__w/
6' §0\|w + 4%e% “o000 :0¥%oz>

Totl

|22 300 ¢ So°
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Questions Prepare the Accounting Equation anfl Balance Sheep on the following basis: 200 0? \,D/B)( —> + (a p oA
(i) Gurman started business with cash 320,000 m
(i) He purchased furniture for 32,000 0000 s hoov
(i) He paid rent of 3200 yCash
_kiv) He puchased goods on credit 33000 — Stocky
Sol. M He sold goods (cost price ¥2,000) in cash for ¥5000
S. NO. TRANSACTION ASSETS = LIABILITY + CAPITAL
C;\SL\ -+ Turntkuve + Stock ( vedotor
|- 9—6&%4(& businensd :ZOOOO QOOOU
oL NI Vo hraned —2000 | 9000
Toted. 1000 + 2000 © T 42000
3 | Renk Pard - 00 - 00
“Totoh \7Q00 + 2000 O 4+ 19% 00
é\‘ Coooqb (Purdxo\sco\ on (Yeoudt + 3000 + 3000
Total N €00+ 200 L 3obo F} 2000 + 1950y
5. (&SL\ A L Sooo0 — 2.000 + 3000
Toda\ 22304 2op0 + 1000

} 2000 1 22800
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Questions Develop an Accounting Equation from the following transactions:
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/(ia/ Mahon commenced business with cash 350,000
_kii) Purchased goods for cash 330,000
(yﬁ Purchased goods on credit 320,000
()',V)/ Sold goods (costing %‘1(’)19’()_0) for 212,000
Y] B
S. NO. TRANSACTION ASSETS = LIABILITY + CAPITAL
Casly 4 Shocke Credidoy
| | Mohan stk businens | 5p000 + Sopoo
2 Poxc hases —pove  }3oo00
Totedo 2000L + 20006 + Svooo
2 Creddt Tixcharen } 2000, 420000
Total 720000 +-S0000 4 20000 4 Sooso
4 Saley 172000 —|ooo0 + 2000
} 200006 + 52ovo

Totek

32000 + Yoo
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e TopSats 29
_kv) Bought furniture on credit 32,000
/(,w') Paid cash to a creditor 315,000
}y—if) Salary paid 31,000
= LIABILITY + CAPITAL
S.NO. | TRANSACTION AS,SETS - .
(a 3“" + S“‘\)Q\Q -I— ‘IWY\‘\‘]\J\IQ (X_(A_?CL:Y -‘- «\'UY((YQd\l’ﬂ\
olel 22000 + Lopo0 Q oobo A ':)_loo o
5 (l—/wr\"'{'wa on Cxedd + Q000 +2000
“Toted 22000 + LIOVOL } 2000 20000 4 Qo000 + S2000
6 | YVoud Yo U didsy - 15000 __1S000
Tote) |3 oo+ (400004— 200V + Sovo +20do + 53090
") Cﬁal«‘(ﬂ —|boo — | ooo
ﬂTM | 6000 + Lo oo+ L2006 s + 5000 + oo + 5looo
Fssehs Lol + C_qrb
58000

= Joeo + 5 loog
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Questions Show the effect of the following transactions on Assets, Liabilities and Capital through accounting equation:

() Started business with cash 31,20,000
(T Rent received 10,000 P Javesrmnendks — N<sek
kT Invested in shares 350,000 "~
> Conh -
(ch) Received dividend 35,00
_ke) Purchased goods on credit fron@ 335,000 ] Gneore —> Cap+
: ) T Cash+
Sol. Jobo naom WkRha ko
o cvedat eSS hole b
ASSETS = LIABILITY + CAPITAL
S. NO. TRANSACTION B
Cash =+ Dnvepbment 4+ Stock + Ceedibors

|- [ Stexkedd Wusinwn 4120000 + 200006
2| Repd veceived F 10000 + Joooo

Toted 4+ 120000 + Rovoo
> | Tve shmend ~ 50000 + 50000

Toley ¥0000 +5Spooo + [R0000
Lo | Oividen ged 15000 F 5 ooe

TO‘I“‘{ B5vo0 4+ Spsoo —+ 125000

5| (~edit-"Pvi hode, 435000 + 35600
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_FY Paid cash for@ 37,000 %D\
(g) Sold goods for cash (costing 10,000) 314,000 G N (peh S Cailed
(h) Cash paid to Ragani @%@ € 30000 o0 Vl
(i) Deposited into bank 320,000 g%db\ - (ash — -
S. NO. TRANSACTION ASSETS = LIABILITY + CAPITAL
Gosh + Vverhot 4+ Shodk 1~ Bambk Ceeddoy
- o ™AL BSoo0 + Soowo + 5000 3Sove —+ 3% obe
6 QXO\W\Y\?A — T)o00 — Jooo
“Tot+as 78000 4+ SpooD+4 500D RSp006 4+ j228¢°00
). QSG)@ |looo — 1 00D Looo
| oted 4 20004 Soooo 4 25pvoO 3Sooo + %2000
% /Pwd o (e du *DY ~300v00 —3S 000 T S ooo
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L. Topgats 3
Questions Prepare the Accounting Equation on the basis of the following:
1. | Harish commenced business with cash %1,50,000
2. | Furniture purchased for cash. 320,000
3. | Purchased goods from Mahesh on credit. 325,000 \e\\/‘) )
4. | Sold Goods (Costing ¥10,000) to Mohan for cash. 314,000 /
Sol.
ASSETS = LIABILITY + CAPITAL
S. NO. TRANSACTION
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Additional capital introduced.

Commission received in advance.

Paid to creditor (Mahesh) in full settlement.
Sold goods (Costing 15,000 for ¥18,000 out of
which 5,000 received in cash.

Depreciation on furniture provided @10%.

320,000
32,000
322,500

W)
el

Next N\ |

Toppersll

S. NO.

ASSETS

LIABILITY

+

CAPITAL

TRANSACTION




4

3 | \_BATCH

o e

Next N\ |

Toppersll

Questions Transactions of M/s Vipin Traders are given below: Show the effects on Assets, Liabilities and Capital with

the help of accounting equation.

(a) Business started with cash

(b) Purchased goods for cash

(c) Purchased furniture from R.K. Furniture on Credit

31,25,000
350,000
310,000

(d) Sold goods to Parul Traders (Costing ¥7,000 vide bill no. 5,674) 39,000

Sol.

R
>

S. NO.

TRANSACTION

ASSETS

LIABILITY

+

CAPITAL
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S. NO. TRANSACTION

L. Topgats 3
(e) Paid cartage 2100
(f) Cash Paid to R.K. Furniture in full settlement 39,700 \)\ W
(g) Cash sales (costing ¥10,000) 312,000 _—
(h) Rent received 34,000
(i) Cash withdrew for personal use 33,000
ASSETS = LIABILITY + CAPITAL




STAY CONNECTED




